QC Chart of Internal Quality Control (IQC)for G6PD Quantitative Test

Select LotNo @ AH1220N (2019-01-28 ~ 2100-12-31) Change
Print Table
Lab033
Control N Control D
QC Control Lot No. AH1220N AH1220D
Duration of the Analyzin, Month CuM Month CUM
yzing (2019/08) (2019/02/01~2019/08/31) (2019/08) (2019/02/01~2019/08/31)
Runs (N) 5 ] 21 5 21
Mean (U/gHb) 128 | 12.5 3.8 3.9
SD 03 | 0.4 | 02 0.1
CV (%) 23 ] 3.2 53 2.6
Target Value (U/gHb) 12.4 | 12.4 3.9 3.9
Total Error (%) 79 | 7.2 | 131 5.1
TEa (%) 20 | 20 20 20
o >6 | 6.0 33 >6
Bias (%) =[ ( | Mean - Target | ) / Target ] x 100%
TE : Total Error(%) = Bias (%) + 2 x CV (%)
o (Sigma) = [TEa% - Bias (%)] / CV (%)
Month : 2019 08 Change ; Cumulative: from 2019 02 01 to 2019 08 31 Change
[TOP]
Control N SDI QC Chart
Lot No.: AH1220N ; Duration : 2019-02-01 to 2019-08-31 ; Target : 12.4 ; SD : 0.46 Lab033
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Control D SDI QC Chart

Lot No.: AH1220D ; Duration : 2019-02-01 to 2019-08-31 ; Target : 3.9 ; SD : 0.13
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Control N and Control D SDI

QC Chart

Lot No.: AH1220N ; Duration : 2019-02-01 to 2019-08-31 ; Target : 12.4 ; SD:0.46 (@)

Lot No.: AH1220D ; Duration : 2019-02-01 to 2019-08-31 ; Target : 3.9;SD :0.13 ()
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Peer Group Statistics (Table 1)

Select LotNo : [AH1220N (2019-01-28 ~ 2100-12-31) V| Change |

Select Reagent Kit * |5 - Medicon | Change |

Monthly
Month :|2019 v||08 V|| Change
| I I Control N (Lot No.: AH1220N) I Control D (Lot No.: AH1220D) |
) R Reagent Kit|| Target | Mean ||n for CV/|| TE |[TEa s Target || Mean |[n for D CV|| TE ||TEa
UnitD =l oo de) * [|(U/gHb)|[(U/gHb) Mean|[> (%) (%) |(%) (U/gHb)||(U/gHb)|[Mean|> " |[(%)|[ (%) || (%)

NEER
ofln] O

Lab020 5 159 || 151 || 4 3.3||11.7|| 20 |4.5] || 5.2 48 || 4 [0.2]|4.2[16.0] 20
Lab022 5 124 || 122 || 5 1.6][4.9][ 20 [>6[ || 4.1 4.0 | 5 [0.1][2.5][7.4][ 20
[Lab032 [ 5 [ 153 J[ 145 ][ 6 Jo.s|[3.4]r2.1[20]g3[][ 52 ][ 44 [ 6 Jo.2][4.5][24.5[20][1.0]
[Lab033 [ 5 ][ 124 ][ 128 [ 5 Jo3|23][79][20]>6][][ 3.9 ][ 3.8 | 5 Jo2|[5.3][13.1][20]3.3]
[Towl [ - - 136 J[20 Juae8][ - JL- - JIC - ][ 42 J[20 Jo4ffo.s][ - J[- -]

Bias (%) = ( | Mean - Target | )/ Target ] x 100%
TE : Total Error(%) = Bias (%) +2 x CV (%)
o (Sigma) = [TEa% - Bias (%)]/ CV (%)

[TOP]
Cumulative

Cumulative : from [2019 v|[02 v|[01 v]to [2019 V] [08 V][31 V]| Change |
| | | Control N (Lot No.: AH1220N) ] Control D (Lot No.: AH1220D) |

) s Reagent Kit|| Target || Mean |[n for ) CV|| TE |[TEa Target || Mean ||n for 3D CV || TE |[TE4|
UnitD =1 oo 4e) T |((U/gHb)((U/gHb)|Mean|> (%) (%)|[%)|| ||| ((U/gHb)((U/gHb)|Mean|> (%) [|(%){|(%)
[Lab020 [ 5 [ 159 ][ 152 ][ 10 Jo.6]3.912.3][20 J4.0][ 52 [ 4.6 ][ 10 Jo.2][4.3]20.2][20][2.0]
[Lab022 [ 5 [ 124 ][ 124 [ 17 Jo3]2.4][48][20]>6]][ 4.1 ][ 4.0 ][ 17 Jo.1][2.5][7.4][20][>6]
[Labo32 [ 5 ][ 153 | 143 ][ 19 Jo.6|[4.2]149[20 B2[][ 52 | 4.6 ][ 19 Jo.6][13.0[37.6][20][0.7]
Lab033 5 124 | 125 | 21 Jo.4][3.2][7.2] 20 [e.0] || 3.9 3.9 [ 21 Jo.1][2.6][5.1][20]>¢]

Total - - 13.4 ][ 67 [12]jo.0] - [ -1[- - 42 [ 67 Jos|d - [ - J[-]
Bias (%) = ( | Mean - Target | )/ Target ] x 100%

TE : Total Error(%) = Bias (%) +2 x CV (%)

o (Sigma) = [TEa% - Bias (%)]/ CV (%)
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| Reagent Kit ||Reagent Code|
Medicon I5 |




Peer Group Statistics (Table 2)

Select LotNo : [AH1220N (2019-01-28 ~ 2100-12-31) V| Change |

Select Reagent Kit : |5 - Medicon

v| Change |

IControl N Month vs. Cumulative

Print Table 2

| I I Control N (Lot No.: AH1220N) |
| || I Month (2019/08) Il CUM (2019/02/01~2019/08/31) |
. " Reagent Kit|| Target | Mean ||n for ] CV|| TE ([TEa Target || Mean ||n for CV| TE TEa_
UnitD = ey + {lUrgtb)|(U/gHb)Mean|>2le)] %) @) © | [[U/ghb)|(UrgHb)Mean|>Plo)l @) | )| ©
[ Lab020 || 5 || 159 || 151 || 4 |0.53.3][11.7][ 20 [4.5]|| 15.9 || 15.2 |[ 10 [0.6][3.9][12.3] 20 |4.0
Lab022 5 124 ][ 122 |5 Jo2|[re][49][20]>6][][ 124 ][ 124 ][ 17 Jo.3][2.4][4.8][20][>¢]
Lab032 5 153 || 145 || 6 Jo.5|[3.4]12.1][ 20 .3]][ 153 || 143 | 19 [o.6][4.2][14.9] 20]}3.2]
[Lab033 || 5 || 124 || 128 || 5 |-|2.3||7.9|| 20 |I>6[ || 12.4 || 12.5 || 21 [0.4]3. 2||72|| 20 {6.0] |-
[ Towl [ - ][ - | 13.6 J[20 Ju2ss][ - [ - J[-JIL - [ 134 ][ 67 Jr.2[9.0 - - J[-]

Bias (%) = ( | Mean - Target | )/ Target ] x 100%
TE : Total Error(%) = Bias (%) +2 x CV (%)

o (Sigma) =

[TEa% - Bias (%)] / CV (%)

Month : [2019 v|[08 V][ Change | Cumulative : from [2019 V] [02 v][01 ] to [2019 ][08 | [31 V][ Change |

[TOP]
IControl D Month vs. Cumulative
| | I Control D (Lot No.: AH1220D) |
| [ I Month (2019/08) I CUM (2019/02/01~2019/08/31) |
nitD & Reagent Kit|| Target || Mean |[n for D CV|| TE |[TEa - Target || Mean |[n for SD CV||TE TEa|E|
“ |l (Code) £ |(U/gHb)(|(U/gHb)|[Mean (%)[|(%0)][(%0) (U/gHb)||(U/gHDb)|[Mean (%) |[(%)|(%)
Lab020 5 5.2 4.8 | 4 [0.2[4.2][16.0][ 20 |29 || 5.2 4.6 | 10 [0.2][4.3]R20.2] 20
Lab022 5 4.1 40 | 5 [o.1][2.5][7.4] 20 |>6] | 4.1 4.0 | 17 [o.1][2.5][7.4] 20
[Labo32 |5 ][ 52 | 44 ][ 6 Jo.2][4.5]p4s|[20]rof[][ 52 | 4.6 ][ 19 Jo.6][13.0]37.6][20][0.7]
[Lab033 [ 5 [ 39 ][ 38 | 5 Jo2|[53|13.1][20]B.3[][ 3.9 [ 3.9 ][ 21 Jo.1][2.6][5.1][20][>¢]
[ Total [ - I - ][ 42 20 Jodffos][ - J[- J[-IC - 142 67 JosJrro) - ][ - I[-]

Bias (%) =1 ( | Mean - Target | )/ Target ] x 100%
TE : Total Error(%) = Bias (%) +2 x CV (%)
o (Sigma) = [TEa% - Bias (%)] / CV (%)

Month: Cumulative : from 2019 v/|[02 v|[01 v|t0[2019 v||08 Vv/||31 v|

Reagent Kit

|[Reagent Code|

Medicon

|15
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